Cijferen: +, - en x door elkaar.
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        489 + 216= 705              100 – 23 = 77                     297 x 3 = 891
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         514 – 350 = 164              86 x 7 = 602                      56 + 877 = 933
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       !!! 321 x 4= 1284             708 – 195 =  513              567 + 334 = 901
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         514 + 28 = 542                86 x 7 = 602                       956 - 377 = 579
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Cijferen: +, - en x door elkaar.
DINSDAG:
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        789 + 216=  1005           1000 – 19 = 981                97 x 8 = 776



                                                                                                                 



	D
	H
	T
	E

	
	8
	10
0
	14

	
	9
	1
	4

	
	3
	5
	5

	
	5
	5
	9


	D
	H
	T
	E

	
	
	2
	

	
	
	9
	6

	
	
	
	4

	
	3
	8
	4


         914 – 355 =  559              96 x 4 =  384                    156 + 777 = 933
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       328 x 2= 656                     702 – 105 = 597                666 + 234 = 900
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[bookmark: _GoBack]         51 + 268 = 319                6 x 89 = 534                       856 - 677 = 179
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